(I had thought that the red flags on Connecticut Avenue for pedestrian use were wonderful ‑‑ until I used one. 
On Friday, March 31, about 6 p.m., my wife and I used a flag at Northampton Street to cross Connecticut from east to west. A northbound car stopped reasonably quickly to allow our passage, but the car immediately behind plowed into the rear of the stopped car. 
As we stopped to identify ourselves to both drivers, a clerk at the store at the intersection advised us that this was the third such accident that day.

(It stands to reason. A traffic light is elevated and gives adequate warning to oncoming traffic that the light is red or about to change to red. A flag, however, is at street level and may not be visible to cars other than the leading vehicles. Trailing cars, particularly those not familiar with the area, may have only the actual stoppage of the car in front to warn them.

(As much as I hate to suggest more traffic controls on Connecticut Avenue (I am a driver much more often than a walker), 
it seems to me that a pedestrian‑controlled traffic light would be a better alternative.(

Charles E. Zeitlin, Chevy Chase, Md., Dr. Gridlock column, Washington Post, 16 April 2006, p. C2.

�Clever statement of: Red Flags on Connecticut Avenue have problems; and with later argument we know the claim is: The Red Flag strategy at intersections leads to automobile accidents.


�This is support by example.  If we were to apply the tests of example we would naturally ask (in Toulmin terms a rebuttal), Is this example typical?  Without responding to that test, we have little faith in the argument.  Accidents happen all the time.  They have many causes.  This would be a fairly weak argument.  The only ones for which it might be enthymatic are those who drive Connecticut.


�This responds to the test (the rebuttal) by offering an authority argument.  The strength of this authority argument is the clerks ability to observe.  We do not know the clerk, however, and must put faith in his/her not being an exaggerator as well as putting our faith that the clerk(s statement is being quoted correctly.  Overall, this adds considerably to the strength of the argument.  It corroborates the one example by multiplying it.  Its strength is still limited by the faith that we might have in the report of an unnamed clerk (we generally expect them to chat-up customers and agree insincerely, perhaps even with exaggeration, with those whose noses are bent out of shape).


�This is a second type of support for the claim of the first sentence.  The first sentence here sets up the type of argument ( what Campbell and Huxman call (causal,( that is, (establish necessary relationship between two phenomena.(  This adds considerably to the strength of the support for the argument.  It gives a scientific aura to the observed explanation.  Together, we have a quasi-scientific explanation, with the detailed story, and corroboration of multiple instances.  This, puts the argument together strongly.





We can also analyze this support as a chain argument.  The first sentence is a claim.  Following is a comparison between the traffic light system and the red flag system.  We could identify this as an analogy and apply the appropriate tests.  When we did, the argument seems strong since a comparison of similarities and differences indicates that the only difference would be the signal device.





It stands to reason. A traffic light is elevated and gives adequate warning to oncoming traffic that the light is red or about to change to red. A flag, however, is at street level and may not be visible to cars other than the leading vehicles. Trailing cars, particularly those not familiar with the area, may have only the actual stoppage of the car in front to warn them.


�This recognizes an unaddressed issue ( the density of lights on Connecticut Avenue.  In Toulmin terms, this is a rebuttal that has led to a qualifier on the claim.


�This is a potential claim of the piece, a claim of judgment.  But when we look at the piece as a whole and the tone communicated by the author, we suspect that the author is actually making an unstated claim of action: A pedestrian-controlled traffic light should be installed at this intersection on Connecticut Avenue.  Using our stock issues of policy or action, we have the author providing the great advantage of such a light ( fewer car crashes ( and acknowledging a significant disadvantage issue that would be posed by those disagreeing with the claim ( there are too many lights already on Connecticut for it to be an effective mover of traffic.  In an argument2 we would expect this to be a pretty good argument, but that there would need to be something besides recognition of the disadvantage.





